Yogurt n_

A food company produces yogurt in half-cup tubs.

2 cups =1 pint
2 pints = 1 quart
4 quarts = 1 gallon

1. The tubs.of yogurt are sold for 75¢ each.
Twenty percent of this is profit for the food company. ‘ / ,'
How much profit does the company make on each tub? \ 5 ¢ l

Show your work. 0.2x06.75

o5 S » |

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It ,

fills 1600 tubs an hour. /

2. How many gallons of yogurt are needed to fill 1600 tubs? 50 Cj&\\b ASS I
Show your calculations. =600
16 cups= | %O&l 7 37%?_(53 _ l
32 tubS=1gak /
32 fubs U 1600 tueS ‘
[ gok x gl S
3. How many gallons of yogurt are needed each week? 2,500 %’k : 2

Show your work. 6,000 tubs o O(Wﬂ
Q0,006 TS a week |

3'1 oS ‘%O/O@O 'h'*)"g /

| gad % gk
32’7( = gDI 600

o0
4. What is the percent increase in ﬁr?duction if the machine runs for 7 days a week instead of5/~
days a week? 2 eXTVOR o(cuﬂs 86,
Show how you figured it out. "25 =0.4

= L‘*o “%o / ' I
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Yogurt ' : 2

A food cofnpany produces yogurt in half-cup tubs.| | CUP}: % (’Y'!'\‘*j = U %M&) = | 9 q’ (") 1/]

2 cups =1 pint
2 pints = 1 quart
4 quarts = 1 gallon

1. The tubs.of yogurt are sold for 75¢ each.

Twenty percent of this is profit for the food company. ) 4
How much proﬁt does the company [:%ake on each tub? é @ﬁ(

) 4
(0 mf
3 2/‘ %/ s X |
ot X leB e 0
g .
The machine that fills the half-cup tubs with yogutt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? f 0 j / /wf

Show your calculations.

001> |

Show your work.

3. How many gallons of yogurt are needed each week? } S- !7& jﬂ ’ l gﬂj
Show your work. ‘ ;
SOXI0Xs=Y6pg ~ |

4. What is the percent increase in production if the machine runs for 7 days a week instead

f5
days a week? ' , | ‘ S Z}Vﬁ&\/ A

SR
L
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Yogurt T3

A food company produces yogurt in half-cup tubs.

2 cups =1 pint
2 pints =1 quart
4 quarts = 1 gallon

1. The tubs.of yogurt are sold for 75¢ each.
Twenty percent of this is profit for the food company. ‘
\S ¢ //

How much profit does the company make on each tub?

Show your work. 0.5 P
154 2001.(.,9” ,‘,

0.1 (0.1%) = 0.1% / ‘
=15 §
The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It

fills 1600 tubs an hour.,
2. How many gallons of yogurt are needed to fill 1600 tubs? C0 gallon¢ ‘/ ,

Show your calculations. 1600 M",Q'_E.N-U&E = 800 MpS
D00 edps L prat 1 44) @00 4 f
s v Tl 5044l v

3. How many gallons of yogurt are needed each week? 1500 Cﬂl Lovg 2
Show your work. : 3
y 1600 fub¢ \t}}:\:\u . 16000 iy QOQAI . 8)()00019&5 2200%\
o J | day 1600 T !
15000 tbe € dmyc 9 , ‘
L2223 o 90000 Ambe filed in
7l \ w 4\ Sdaye / | (
4. What is the percent increase in production if the machine runs for 7 days a week instead of 5 .
days a week? . : 40240 7
Show how you figured it out. f 112000 -@0 000 = 32000
0 O [0} 3 2 000 N . -
= a:;"‘ - 1A 112000 b ftted in 1daye Soonn - 07 ‘fo/’f l
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T4

A food company produces yogurt in half-cup tubs.

2 cups =1 pint |
2 pints = 1 quart
4 quarts = 1 gallon

1. The tubs of yogurt are sold for 75¢ each. , , ;
Twenty percent of this is profit for the food company. ’ 5 \/
}

How much profit does the company make on each tub?

75.20=15 |

Show your work.

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

5 o ﬁ @ b .
2. How many gallons of yogurt are needed to fill 1600 tubs? }7

Show your calculations. 4’ / 5 - Zq 8 4 -~ %2

3. How many gallons of yogurt are needed each week? lﬁ OO Z

Show your work. BO '(Oj 500 ’ g‘:— 2500 % [

4. What is the percent increase in production if the machine runs for 7 days a wec;{msy\ of 5 2
o

days a week?

b

Show how you figured it out.

)2.500° 2500 . 0

00V . A 00/0
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Yogurt T5

A food company produces yogurt in half-cup tubs.

2 cups =1 pint
2 pints =1 quart
4 quarts = 1 gallon

1. The’tubs,of yogurt are sold for 75¢ each.

Twenty percent of this is profit for the food company.
How much profit does the company make on each tub? 5 ¢ \/
Show your work. ~ a.75 =
| Hub= /2 cup x 0.2 \
50 D¢ /
008 —
050

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? ok 50 ja//onj / (
Show your calculations. |600 + ubs = 800¢ aps - 17'00}7 /AT
200quarts: 50 ) gallons / [
3. How many gallons of yogurt are needed each week? | 23 ﬂﬂcla// ons Z
b . -/
Show your work. 50j4/ = hr. 50 he awee

)J’ﬂﬁjq//om g

4, What is the percent increase in production if the machine runs for 7 days a week instead of §/

days a week? jiﬂjﬂ/: ar. )X 10 hes .aweel  40% jncieace

Show how you figured it out. _ 200
fd{ty! z 2500jal 7/{’}‘-’350034/ 1992 x %
difference = 1000 gal

JO0O = 25X
Ho = X
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